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struct car{

int num;  //EBDOF>)\—
double gas; //EEDHYV > C C CERR(Cstruct carBioD
}; benz&E W DEERZIED TWLNB.
int main()
My NEEFZEED &,
struct car benz;
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benz.gas=18.5;
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struct car audi;
audi.num=5786; L
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struct car{
int num;  //EEDF>)(—
double gas; //EEDOHYY >
3
typedef struct car Car;
int main(){
Car benz;
benz.num=3421;
benz.gas=18.5;

Car audi;
audi.num=5786;
audi.gas=23.4;
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#include <stdio.h> int main(){
Otinpo omanko;
omanko.eye = 0.7;

struct human{ omanko.lon = 17;
float eye; :
4 printf("%.1f,%d",omanko.eye,omanko.lon);
int lon;
1 return O;
’ }
typedef struct

human Otinpo;
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char name;
RBISHRDER(C int age;
BEARZANDCEBETED. int weight:
(BDHI Tstruct student( double height:
struct humanDEZRDAB(C 3
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struct student{

struct human who;
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char num[8];
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